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BB, EREYR b IO R S A 45/ NI TR, A RO s U R R R S A SR AR
TEEMER. B, EWSHESESCRTNEE RSN — T O30, FixHEEE
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BEAZRENE, BT, FEEET EEE, RTRRE VR B R 810 5T R 35 ik
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0T, ATABRATRERERIF MR, FRE TR SITEYASELE, BEERE
F. .

M: There’s Peter in his car. Did he take it to the garage to be fixed?

W: Don’t be silly! That would have been a waste of money.

Q: What conclusion can be drawn from the conversation?

A) Peter paid to have his garage fixed.

B) Peter now works in a garage.

C) Peter wasted his money in a garage. D) Peter repaired his car himself.

M EERIXS AR LIS 5 Peter RAETEEXBEE, MEMECEBTE, Hit, B
ATHERRHE A #1 B. XBANTIRIHERA garage —idl, (B SEEHERT; B CHID HE,
A8t D BRIEWER. (7) (ELEMICR. EWIHEMESH, aIE—&i0%, MERH
R IER LR, ATLLSE TR, #a, A&, BFEE

W TERER R L BB, ENZBRERMNAEER, U hR E B
RIALUT JLRb:
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XEFEEHLERT . B, Fig, 5%, 48— 82Emn. &, &, B, #
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M: How many students passed the test?

W: Well, 900 students took the text, but two-thirds passed

Q: How many students passed the test?

A) 900 B) 600 C) 300 D) 500

2 P

BRREEER LA KEETIATIMERTL, g6, &N, B4, ., 88%,
.

M: What ‘s wrong with your TV?

W: It only has sound, but no picture.

Q: What is the man’s probable occupation?

A) Weatherman. B) Salesman. C) Landlord.
3 MR

EIERAEIEN T EEREERDNE A, BREERFEHT BN

X ARG PR BT, XEGHOFERE. M. 8. Fih. Pig. BHn
%o ﬁ‘jﬂu :

M: I'd like to reserve a single room with a bath.

W: Just go to the front desk and they’ll help you.

D) Repairman.

Q: Where does this conversation take place?

A)In frontof adesk. B)Inaclassroom. C)In a hotel.

4 EERRE

RIGBBERFAEIMENF R REAZRNX R, XFLROERE. &1,
Vi, BREEAEFURA . JEERBE . ERMER . S2EmBEE, Fin.

M: T have to go now. Look after yourself while I'm away. Good-bye, darling.

D) In a restaurant.

W: You will write to me every day, won’t you, dear?

Q: What is the probable relationship between the two speakers?

A) Salesman and customer. B) Mother and son.
C) Husband and wife. D) Father and daughter.
5 HRXEE

RAERECR S SRR FR” 5 “ER . 1EXRE R NI R
& what FIEE[RIRNIE] why, 0.

M: I’'m a little tired, so I want to go to the students’ lounge and have a rest. Will you join me?
W:T'd love to, but I have to go to the library to read the book reserved.

Q: Why can’t the woman go with the man?
A) She’s a little tired. B) She is going to study.

C) She wants to go home. D) She’ll make a reservation.
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[a] 44 What does the man/woman mean? What do we learn from the conversation? 2.
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A) FABERR

The police stopped him because he the traffic regulation.

A) damaged B) destroyed C) broke D corrupted

HRICEMM, FRIENE break 5 regualtion #E, XIEMBRR 5 & AMIERE X
R AFERP, E—BHiERPEEEL X RS EREROBRLH BN, LEIHE
F: serveameal FF{R; fulfil one’s duty JBfT X% ; keep a promise i,

B) FAFIERIXR

He is very worried the exarmination,

A)on B) with C) about D) for

BERE C. worried about RIFFFIHEHD, FAUAIFEA : be excited about, be anxious about, be

responsible for %,

C) MAEBRR
He became happy a big apple on the table.
A) in the sight of B) at the sight of




C) on the sight of D) with the sight of
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LIt is no good to have the computers without the right computer programmes to put into
them . GEFRESNAIAIHER. B no good having)
2. The police warned people to be under guard against pickpokets in a crowded shop.
(A4S, on guard J2iF4H)
3. It is an accepted custom in their country for men to remove their hats when a woman
entered the room. (BfZ54&1R, Nt entered BUAR enters)
4. It is the interaction between people, rather than the events that occur in their lives that are
the main focus of social psychology. (FIEA—F(, interaction 2 1%, iBiEFEM is)
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Simulated Test 1
¥ —  PAPERI

Partl Listening Comprehension ( 20 minutes )
Section A
Directions: In this section you will hear 10 short conversations. At the end of each conversation,
a question will be asked about what was said. Each conversation and question will be spoken only
once. After each question there will be a pause. During the pause, you must read the four
suggested answers marked A), B), C), and D), and decide which is the best answer. Then mark the
corresponding letter on the Answer Sheet with a single line through the centre.
Example: You will hear:

You will read: A) 2 hours. C) 4 hours.

B) 3 hours. D) 5 hours.

From the conversation we know that the two are talking about some work they will start at 9
o'clock in the morning and have to finish at 2 in the afternoon. Therefore, D) "5 hours" is the
correct answer. You should choose answer [ D ] on the Answer Sheet and mark it with a single
line through the centre.

Sample Answer [A] [B] [C] B
1. A) She doesn’t know where to find the manager.
B) She can help the man to find the manger.
C) She knows the building very well.
D) She can’t understand what the man said.
2. A) One student received a higher grade than she did.
B) The test is more difficult than she expected.
C) Several students received the top grade.
D) A number of exams will be received later.
3. A) He believes she is wrong about the pick-up time.
B) He doesn’t know what to do at the moment.
C) Before lunch is a good time to pick up the papers.
D) He believes time passes too quickly.

4. A) Ask the woman to get him some soft drink. C) Go with the woman for a drink.

B) Drink what he has brought with him. D) Continue with his work until lunch time.
5. A) He has accepted the job offer. C) He hasn’t accepted the job offer.

B) He will write a letter to another company. D) He will let the woman have the job.
6. A) In an airport. C) In a manager’s office.

B) In a travel agency. D) In a post office.



7. A) All the stereos were sold out. C) He couldn’t get the right brand of stereo.

B) He didn’t have enough money. D) The store will sell the stereo tomorrow.
8. A) He hasn't had time to do the experiment. C) The experiment took him a lot of time.
B) The experiment turned out well. D) He did only part of the experiment that day.

9. A) She thinks the man should play more sports.
B) She wants the man to buy the watch for her.
C) She wants to know where she can buy a watch.
D) She is recommending a kind of watch to buy.
10. A) The man should sell the recorder. C) The man should give up.

B) The man should buy the recorder by mail. D) The man should run around town.

Section B

Directions: In this section, you will hear 3 short passages. At the end of each passage, you will
hear some questions. Both the passage and the questions will be spoken only once. After you hear
one question, you must choose the best answer from the four choices marked A), B), C), and D). )
Then mark the corresponding letter on the Answer Sheet with a single line through the centre.
Passage 1
Questions 11 ~ 13 are based on the following passage.
11. A) A lot of things have already been done for them.

B) They don’t like to do much for their children.

C) A lot of housework is done by children themselves.

D) They have become much lazier than before.
12. A) They are trained to follow their fathers’ occupation.

B) They can earn as much as their fathers.

C) They like to stay at home with their mothers.

D) They can decide what kind of job they like to take.

13. A) To make more money. C) To stay with them at home.
- B)To buy more gifts. D) To cook good food for them.
Passage 2

Questions 14 ~ 16 are based on the following passage.
14. A) At a closing ceremony of conference.
B) At an opening ceremony of a medical center.
C) At the emergency room.
D) At the operation room of a hospital.
15. A) Opportunities for employment. C) Transfer system to other major colleges.
10



B) Complete physical examination system. D) Information about difficult cases.

16. A) This week. C) The next summer.
B) The next century. D) In three years.
Passage 3

Questions 17 ~ 20 are based on the following passage.
17. A) 1860 B) 1814 C) 1804 D) 1840
18. A) It is one of the largest public universities.
B) It is one of the least expensive universities.
C) It is one of the most beautiful universities.
D) It is one of the oldest universities.
19. A) Lack of funding. B) A big fire. C) War. D) Lack of students.
20. A) Textbooks. B) Classmates. C) The enrollemt. D) The environment .

Compound Dictation
Directions: In this section you will hear a passage three times. During the first reading, you
should listen carefully for a general idea of the whole passage. Then listen to the passage again.
When the first part of the passage is being read, you should fill in the missing word during the
pause at each blank. After listening to the second part of the passage you are required to write

down the main points according to what you have just heard. Finally, when the passage is read

the third time you can check what you have written.

American life has once again been greatly changed by the new age of science and

technology since the Second World War. Everything has to a huge rate.
Information is , nobody has to wait to hear any news. There is a television set in
every house, and there is printing. And a computer can hold more than a million
facts in its . These days internet has thousands of

and scientists together. People no longer have to travel far away to . At home and
in office they are able to know what is all over the world.

In the meantime, there are many new problems in American society.

. These are the two main

problems in America.

We still have two classes of people.
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So the two classes are completely
different.

PartII  Reading comprehension ( 35 minutes )
Directions: There are 4 reading passages in this part. Each passage is followed by some questions
or unfinished statements. For each of them there are four choices marked A), B), C), and D). You
should decide on the best choice and mark the corresponding letter on the Answer Sheet with a
single line through the centre.
Questions 21 to 25 are based on the following passage: P AR

In 1963 an American physiotherapist (4:32:%) Glenn Doman wrote a best-selling book
called “How to Teach Your Baby to Read” . Now translated into 17 languages, this book arose
from his work with brain-damaged children in Pennsylvania. Doman and his team of specialists
had wondered why brain-injured children didn’t improve with medical treatment. Then they
realized that conventional methods of treatment only relieved the symptoms, not the problem,
which of course was the brain itself. So they developed a new approach.

“All we do for all children here is to give them visual, auditory and touchable stimulation with

increased frequency, intensity and duration, in recognition of the orderly way in which the brain
grows,” says Doman, “the result was that by 1960 we had hundreds of severely brain-injured
two-olds who could read and understand.” The team had discovered that even children WII) had
half their brains removed could, by stimulation, achieve higher IQs than the average normal child.

Then the team began to think if such amazing results could be achieved with brain damaged
children, what would happen if the same treatment were given to normal children. So eight years
ago the Better Baby Institute was opened for the benefit of normal children. The same stimulating
enriched environment was provided, and, by the time the children left, around seven years old,
they could generally speak and read three foreign languages, play a musical instrument, read three
full-length books a week and do all the other things that a so-called ‘normal’ child could do.

In Doman’s view, the child’s passion to learn during the years up to six, must be fed. He
believes that, like muscles, the brain develops with use, especially so in those first few years.

Nowadays, parents come from all over the world to Pennsylvania to see and learn from the
work of Doman and his team; they want to discover how they can fulfil their roles as natural
teachers, by using their love, understanding and instincts for the benefit of their children. For in
the words of Doman ,“Every child born has a greater potential intelligence than Leonardo da Vinci
used”.
21. In his research, Glenn Doman discovered that brain-damaged children improved when they
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